o(d dxy) (cm)

-
<
N

—~
£
.......................................... o _:......................................................................
~
—~
N
I B L L L EE -c R L L I P B L R T R ]
&) :
~—
o)

1071

= SO N

b
»-

o
<
N

60_2illl Illi Ilill illll: III:
2 10 -
x

4+ +. 1k + : * : +

T YT B ¥ VY BV 55 % Y P P I EShEE AN S S A NS
: ] L + 4| ¥ : + [ +
' -+ - -ﬂE.- -+ : 5 *4 |+

o 1 2 3 083~ 5 11

—s=— DQM_V0001_R000000001__Global__CMSSW_ckfnocut3_RECO
—e— DQM_V0001_R000000001__Global__CMSSW_mknocut3_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mknocutinoclean3_RECO

o(d o) (rad)

.
PP

ke

-2 + ] :
H=bebFebeFeref-prtff e PUS RS E 3
10T I S 4T I L T
1 EB A A A R nANE - &
¥ + ] : E Nk L
1 I O R Y A A
-+ LdESE ki3
] k3
+ |
I 11111 1 1111 ] 1) 11 1 1111 ] 14111 I
9 4+ : E
212 IR F1{1"
+ ] b :
D: | - : :
+ ] : A
7 T =3

|
w

H
L LI LU T
i R i
"
»-

+ *:

-+ HE 3 *

0 1

TP ® (PCA to beamline)

L
.

1

2

TP ® (PCA to beamline)



	Contents
	Page 1


